PHAY Ao 7 Topr

[This question paper contains 6 printed pages.]

Your Roll No...............
Sr. No. of Question Paper : 3180 A
Unique Paper Code : 12277601

Name of the Paper

Name of the Course

Political Economy II (DSE)

CBCS B.A. (Hons)
Economics

Semester . VI

Duration : 3 Hours

Maximum Marks - 75

Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.
Answer any one question from Part A

and any three
questions from Part B.

Questions in Part A carry 15 m

arks each and
questions in Part B carry 20

marks ecach.
Answers may be written ecither in English or Iindi;

but the same medium should be u

sed throughout the
paper.
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Answer any one: (15)

Explain’r the term neoliberalism. Do you think that the
state plays a minimal role in a neoliberal system?

Discuss.
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2 Wwrite a long note on any one of the following:

(a) The theory of global value chain governance
developed by Gary Gereffi and others.

(b) Gender and “cooperative conflict”

(c) Dumenil and Levy’s characterization of the three
different phases of modern capitalism and the

dynamics of class alliances in these phases.
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Answer any three: | (20%3=60)

3. Explain how the Post-Fordist systems of production

not only restructured production but also pointed to

P.T.O.




4
3180

o) 3 : v r Or .
fundamental changes in corporate forms, laboy,
rocesses, and consumption patterns along wig Spatig]
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reorganisation of economic activity.
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Why did Stephen Flymer think that in spite of their
similarity with respect to large size and vast
international operations, the Multinational Corporations
(MNCs) has little to do with the mercantile
organisétions like the East India Company? Discuss.
Explain why the MNCs chose a path of capital
deepening and continuous innovation and how their

internal structure was conducive to this strategy.
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along with a discussion of v
informalisation.

global factory”

arious forms of

Wﬁﬁaw%mﬁwﬁa«-maa “ AT T s
L AT fashre & aRomeaRT Ier= B A o we
27 TR & Rt = & =t & w-a
“ARah HRE” A YONAE FH D GhA B Feof A forr
= |

6. “The incredible contradictions of wealth and power
that now exists in the upper echelons of capitalism
have not been seen since the 1920s” (David Harvey).
Do you think this phenomenon is a mere by-product

of neoliberalism or is it the very core of what

neoliberalism 1is all about? Discuss and substantiate

from experienceé of neoliberal transitions.
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What do you understand ‘by financialisation’? A"?llysc
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how fmancialisation has result ¢ rcdmtrlbutmn of

incomes and wealth in favour of financial Sector ang
particularly the upper fractions of capitaljg and

managerial classes. What are its broad socia|

consequences?
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Analyse how gender has been a crucial dimensiop N
both in the construction of'-new spaces of production :\
(eg. SEZs) and in the new patterns of spatial mobility J
of labour (migration) under globalisation.
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Discuss the contention of Robert' Boyce that greater
inequalities of power and wealth lead to more

environmental degradation.
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